

Name: Ayan . Chakraborty (3)

Matr No: 1512107107

Petroleum Engineering  
EN6381

1) If  $y = e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = 2e^{x^2+x} + (2x+1)^2 e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'(2x+1) = (2x+1)e^{x^2+x}(2x+1) \\ = (2x+1)^2 e^{x^2+x}$$

$$2y = 2 \cdot e^{x^2+x}$$

$$y'(2x+1) + 2y = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$2e^{x^2+x} + (2x+1)^2 e^{x^2+x} = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$w = y''$$

$$w^2 = y^{n+2}$$

$$P = y'(2x+1)$$

$$y = 2x+1$$

$$V' = 2 \quad u = y'$$

$$V'' = 0 \quad y^n = y^{n+1}$$

$$P^n = y^{n+1} \cdot (2x+1) + n \cdot y^n \cdot 2$$

$$S = 2y$$

$$S^n = 2y^n$$

$$w^n = P^n + S^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n-1)y^n$$

2) Using Leibnitz theorem, given that

$$y = x^3 e^{4x} \quad \text{determinant of } \begin{matrix} v \\ u \end{matrix}$$

$$v = x^3$$

$$u = e^{4x}$$

$$v' = 3x^2$$

$$u' = 4e^{4x}$$

$$v'' = 6x$$

$$u'' = 16e^{4x} = 4 \cdot 4e^{4x}$$

$$v''' = 6$$

$$u''' = 4 \cdot 4 \cdot 4 e^{4x}$$

$$v^{(n)} = 0$$

$$u^{(n)} = 4^n e^{4x}$$

$$y^{(n)} = 4^n e^{4x} \cdot x^3 + n \cdot 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2} 4^{n-2} 6x + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} \cdot 6$$

b

$$y^{(n)} = 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$y^{(5)} = 4^5 e^{4x} x^3 + 4 e^{4x} 3x^2 + 4^3 e^{4x} 3x + 5 \cdot 4 \cdot 3 \cdot 4^2 e^{4x}$$

3)  $x^2 y'' + xy' + y = 0$  show that  $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0$ .

Let  $w = x^2 y''$

$$v = x^2 \quad u = y''$$

$$v' = 2x \quad u' = y'''$$

$$v'' = 2 \quad u'' = y^{(4)}$$

$$v^{(n)} = 0 \quad u^{(n)} = y^{(n+2)}$$

$$w^{(n)} = y^{(n+2)} x^2 + n \cdot y^{(n+1)} 2x + \frac{n(n-1)}{2} y^{(n)} \cdot 2$$

$$w^{(n)} = x^2 y^{(n+2)} + n 2x y^{(n+1)} + n(n-1) y^{(n)}$$

Let  $P = xy'$

$$v = x \quad u = y'$$

$$v' = 1 \quad u'' = y''$$

$$v^{(n)} = 0 \quad u^{(n)} = y^{(n+1)}$$

$$P^{(n)} = y^{(n+1)} \cdot x + n \cdot y^{(n)} \cdot 1$$

$$P^{(n)} = x y^{(n+1)} + n y^{(n)}$$

$$S = y$$

$$S^{(n)} = y^{(n)}$$

$$y^{(n+2)} x^2 + n \cdot 2x y^{(n+1)} + n(n-1) y^{(n)} + y^{(n+1)} x + n y^{(n)} + y^{(n)}$$

$$y^{n+2} x^2 + (n-2x y^{n+1} + x y^{n+2}) + [n(n-1)y^2 + n y^2 + y^2] = 0$$

$$x^2 y^{n+2} (2n+1) x y^{n+1} + (n(n-1) + 1 + n) y^2 = 0$$

$$x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2+1) y^2 = 0$$